Y —
2 R A =
2025038 P T EBEAER 1/1
T SN, 5&\@:* | ﬁ‘E | e x5
B | RAE | | AE | BE | =3 | mih | E@Em 109 SARSREE OEE |
[m/s] B [m/s] [%] [hPa] [mm] 0~96% 9~15k | 15~24B%
01 1.0 PEEEF 4.4 [e3iii) 11.6 19.6 3.2 51.6 77.9 12.5 50.8 1006.9] 1006.9 0.0 0.0 0.0 i i B
02 0.9 B[] 6.2 B (o] 13.7 17.8 9.7 57.0 79.7 43.3 52.7| 1002.6| 1002.6 0.0 0.0 0.0 B 2 £
03 2.4 dvdtrm 9.1 dkdtrm 9.1 13.6 5.5 76.5 94.6 52. 2 59.8/ 999.9] 999.9 1.5 4.5 12.0 551 2 £
04 0.9 dvdkpm 4.1 dJtdbFE 5.2 6.0 4.4 79.8 92.5 55.6 65.8 1007.1 1007, 1 1.0 2.5 11.5 51 531 5l
05 1.3 dtdkFE 6.4/ drdbim 7.9 10.9 5.2 87.4 93.2 66. 2 72.3] 1000.3] 1000.3 1.0 1.5 4.0 51 51 531
06 4.9 B | i 11.9 B dfic] 7.4 11.8 4.1 51.4 73.4 33.6 66.0 1000.6/ 1000.6 0.0 0.0 0.0 2 £ £
07 4,5 dJtdbFE 11.9] Jedtim 5.4 10.1 1.8 38.9 50. 6 21.8 57.9] 1008.2| 1008.2 0.0 0.0 0.0 2 £ £
08 1.5 dbdvFE 7.0/ FEEAFE 5.1 10.2 0.8 57. 1 83. 1 46. 1 57.7| 1011.7| 1011.7 0.5 0.5 0.5 551 531 =
09 3.2 p| i} 12.0| dvdbim 7.3 14.0 0.6 46.7 80.9 23.6 54.4) 1012.0/ 1012.0 0.0 0.0 0.0 £ 2 £
10 1.7 =2 8.0| FEEAFE 9.0 15.8 1.2 49.7 63.8 21.5 53.0| 1014.9] 1014.9 0.0 0.0 0.0 £ i i
11 0.8 dJtitm 5.0 3k 9.4 11.2 8.3 82.6 91.6 61.8 61.9/ 1009.9] 1009.9 0.5 1.5 10.5 51 51 £|
12 1.0, dtdbFE 6.4/ dvitim 11.6 16.0 1.5 85.0 95.2 65. 1 68.8/ 1003.5 1003.5 0.5 1.0 1.0 =2 £ £
13 3.4 B[} 12.3 B[ o] 12.4 17.0 7.7 55. 6 95.5 25.0 64.8| 1002.8/ 1002.8 0.0 0.0 0.0 2 i i
14 2.7 B i 9.7 B[] 10.8 18.5 3.8 37.0 68.5 11.5 56.5 1009.0/ 1009.0 0.0 0.0 0.0 i i i
15 1.3 dkdkFE 9.6/ dJtitiE 6.8 9.1 4.9 58.9 91.4 31.0 57.2| 1009.2| 1009.2 1.0 3.5 8.5 £ 51 51
16 1.7 B[] 6.5 B[ o] 7.9 1.4 6.0 86. 1 93.5 70.2 65.9] 991.6/ 991.6 1.0 3.0 16.5 51 51 £
17 4.4 B[ o] 14.1 B (o] 6.9 11.1 3.8 58. 1 80. 1 34.0 63.6/ 992.7| 992.7 0.0 0.0 0.0 £ £ £
18 2.0 3] 9.2 3] 6.3 13.1 0.1 52.8 88.4 20.7 60.4] 999.4| 999.4 2.0 3.5 8.5 = 2 531
19 4.0 #EiLFE 16.6 p| i 5.4 11.3 1.8 59.9 88.0 35.5 60.3| 1000.1/ 1000. 1 1.5 5.0 5.0 2 £ 5
20 1.9 mEdbF 8.7 #ibFm 5.4 11.0 -0. 1 50. 0 69. 4 31.9 57.2| 1006.2| 1006.2 0.0 0.0 0.0 i i &
21 1.1 ®HdbE 5.7 B (o] 9.1 16.5 2.1 53.3 69. 4 35.9 56.0| 1002.0/ 1002.0 0.0 0.0 0.0 5 i 5
22 1.6 ®HdbE 8.3 B[] 13.8 21.1 5.7 45.2 72.9 26. 1 52.7| 997.2] 997.2 0.0 0.0 0.0 i i &
23 2.1 B[z} 11.8 B | o] 15.0 22.5 8.5 41.3 59. 6 23.2 49,3 997.0] 997.0 0.0 0.0 0.0 i i &
24 1.8 ®dhE 9.6 3] 13.9 21.4 8.8 60.3 84.8 36.3 52.6| 996.5 996.5 4.0 4.5 4.5 £ £ 51
25 1.6 bR 7.0 EIEE 16.8 23.9 9.8 56. 1 84.5 31.3 53.7| 992.5/ 992.5 0.0 0.0 0.0 51 51 5l
26 2.7 B[] 10.7| dedtim 16.3 21.2 11.2 43.1 73.2 23.0 50.5| 994.6| 994.6 0.0 0.0 0.0 5 i i
27 2.6| EIEEE 11.4] EIEgE 16.3 22.8 9.5 61.8 92.5 32.7 53.9] 995.4] 995.4 0.0 0.0 0.0 i i 531
28 3.8 B i 12,1 PEILFE 16. 1 19.3 10.5 72,1 95.4 50. 6 59.4| 990.2| 990.2 2.5 10.0 20.5 5l 551 581
29 3.3 #EiLFE 11.7| PEILFE 10.4 15.3 7.7 40,1 65.2 15.0 53.6/ 1001.3| 1001.3 0.0 0.0 0.0 51 £ £
30 3.6 B | i 16.2 B dic] 1.7 12.6 4.7 42.2 58. 4 27.7 50.2| 1007.7| 1007.7 0.0 0.0 0.0 2 £ £
31 [ | i 7.9 B (o] 7.0 10.6 3.4 52.4 86.3 35.6 50.8 1011.4] 1011.4 0.5 1.0 1.0 = £ £
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